IIpumepHble 3a1aHusa o MaTreMaTH4eCKOMY aHAJIU3Y

Boruucnute npeaens! GyHKIUU:

. 2x*—9x49 |
1. hm — - 2 hm—
x—>3 X _5x+6 x—1 ,Ix+3_2
3. lim 3x 4 lim ZEETX 4
C o N3+ x—+/5—-x L e 6X°=3x242
. 5 s 6—4x°
5. lim S 6. Tim| =2
x>0 X1g2x ool x7 41

Haiitu nponsBoanbie GyHKITHI:

y=x1-x
4sin3x
y= 2x
e

y = arctge™"

y:(x"5 +2x-3x7 _E]
X

y= (5x+2)3

__ 2 '(Ej_?
Y cosSx’y 3 )

y=3In* (2x+ sin’ 3x)

y= ( cos?x N 3]
\/7

Haiitu nuaterpai:

9
x4x

+10Vx3)dx,

4
1. f(4x3 —F-I—

f dx
sin?(5x-3)’

3. (2 — 4x)sin2xdx,
4x*+4+2x%—x-3

4, dex,
2

5. dex.

AJx+1



